
i.6
0 

 370 

2x Mounting 
plate M5
Cod.204555

4x Gasket 
14x4.9x1.5 
Cod.200371

2x Plain washer 
5x15 Inox
Cod.406580

2x Allen screw 
M5X12  T.B.E.I. 
Cod.201031

Allen screw M8X50 
T.C.Z.B.
Cod.200461

Aluminium spacer
-for allen screw M8-
Cod.204321

Knurled collar 
nut M8
Cod.200298

LV ONE EVO Big 
Silencer 
Cod.3014159481U

Carbon Cover 
Cod.0814033001

Plain washer 
8X24
Cod.200321

Carbon bracket
FB5AS
Cod.308562501

Allen screw M5X14 
T.B.E.I 
Cod.204805

Knurled collar 
nut M5
Cod.204407

 110 

 1
25

 

dB-killer n.32B
Cod.307762801

ART. 14159EU

KTM 1050 ADVENTURE - 1190 ADVENTURE / R - 1290 SUPER ADVENTURE 
(also fits 35kW version) (Fits with rails for original and GIVI panniers)

SLIP-ON - LV ONE - STAINLESS STEEL


	DT-14159E
	Vista del disegno23
	Vista del disegno24




